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1. Which is the smallest
measurement?

a. 300m
b. 200m
c. 200cm
d. 300cm




2. What number is of 207

a. 20
b. 10
c. 13
d. 30




3. A giant lollipop costs . How

many lollipops can | buy if | have
?
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4. John has 15 pages of homework
to do. He completed 4/15 pages
vesterday and did 7/15 pages of
the work today. How much work
has he completed so far?

a. 10/15 b.11/15
c.11/30 d. 15/30



5.How many 100 baizas make one
Omani Rial?
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6.Compare the shaded fractions
by using >, <and =.
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7. What is 1/4 of the given
collection?

T
LI |
L

'-r{ill.;f *'n."u y
e off h | 9
i 1,|-r"-". '.' L,

b
s

n
al

rd
L~
IHH




8. What fraction is shaded
in the given picture?

a.5/6
b. 6/5
c.1/6
YA




9. There are two benches in the
gym. The longer bench is 5m
more than the short one. If
the shorter benchis 2m , find
the length of the longer bench?

a. 10m b. 9Im
c. 7m d. 6m



10. A bar of chocolate weighs 30g.
If the chocolate is cut into 6
equal pieces, how much does
each piece weigh?

a. bg
b. 5g .\

C. 7¢g \

d. 8g
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.11/15
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.5/6
./7m

ANSWER KEY

10. 5¢g
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